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Reall . For a LP in standard form
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WEAK DUALITY says OPT (OUAl) < OPTCORIMAL
and has 3live algebraic proof.

STRONG DUALITY says Ot (OUAL) = OPT (PRIMAL)
and has a proof we'll see firi or Mon.

Running example

Max 2x ,
+32 max [33

St, x
,
+XXS

2x
,
+x = /2 [

x +2 - 14
30

Xi
,
X = 0

opt : x = 2xz = 6



min 8y + 12 y2 + 144 min (i
Sty ,

+ 2yz + 7,42 St · (ii <ty 3/5]
y , + 42 +2y)3 50

Yy42 ,730
Op5 : D = 1

, y50, 43 = 1

"Perturbative" interpretation of duals...
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Physical interpretation in terms of

force vectors.
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Economic interpretation
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Equational form of
a linear

program

Modify an 10 in standard form

by adding "slack variables" W
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